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. A metal sulphate has the formula MSQO,. A chloride of the same metal will have the
formula

T &7 Tohe T A MSO, TaT &1 T gf €T o FAISE FT T [T

(@)
(b)
(©)
(d)

M,Cl;
M,ClI
MCl;
MCI

. The valency of the carbonate radical is

FTATHE LSl sl GATSIHAT &

(@)
(b)
(©)
(d)

. The formula for potassium permanganate is

TEFEH TTHITE FT 97 &

(@)
(b)
(©
(d)

KoMnOy4
KMnO4
K>Mn,0O4
KMn204

. Which of the following is not a compound?

Fraforfara # & e 7 A T8 27

(@)
(b)
(©)
(d)

Sugar/ =Tt

Common Salt/ TETIOT qHH
Diamond/ &i=T

Plaster of Paris/ TTEeT 3% T

. Atomic theory was given by

R IR PARRE L C AR ERIR DRIV

(@)
(b)
(©)
(d)

John Dalton/ STis STea
Neils Bohr/ Ster g
E.Rutherford/ g . T@THhIE
Haber Bosch/ ga¥ ater
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. Smallest possible unit of a compound which has independent existence is
T ATeqA ATl FATRIE sl TaH Gt G99 TH1S 8
@) Molecule/ 37T
(b) Atom/ TTHT
(©) lon/ AT

(d)  Electron/ Zeraai

. Atomicity of Phosphorous is

. The substance that looses electrons is called as
g TaTd ST TAFEIAT I Gl &, FgATdT §
(@)  Oxidizing agent/ ST FTLH
(b) Reducing agent/ 913 H1LH
(c)  Catalyst/ ITH
(d)  None of above/ TAH & FIs AT AT

. In the reaction Mg + Cl, - Mg Cl,

gfafwaT & Mg + Cl, » Mg Cl;

(@  Magnesium is oxidized Cl, is reduced/ Fferr =1 strafi=<or grar g CI2 7 g
ST &

(b)  Magnesium is reduced and Cl, is oxidized/ =¥ w7 T STAT & ¥ CI2
SAFETEA 2T ST &

(c)  Magnesium gains 2 electrons/ HUTTATH 2 TolaFaid ITH FLAT

(d)  Chlorine looses gains 2 electron/ FAIT 2 Tai @I adT &
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10.  When Zn changes of Zn*?it
ST Zn, Zn*%it T IfEdT AT g
(@)  looses 2 electrons/ 2 TAFIAT &7 @I adT &
(b)  looses 1 electron/ 1 T &Y <AT §
(c) gains 1 electron/ 1 TFIT ITH AT &
(d) gains 2 electrons/ 2 Tl STH F¥AT g

. The process of reduction involves

FHT F TeRaT | oA

(@  removal of hydrogen/ BTES IS T fAehTHA
(b) gain of electrons/ THFEIAT T ATH

(©) addition of oxygen/ ST TSI FT TS

(d)  loss of electrons/ Terarai=T T BT

. In the reaction 3MnO; + 4Al-3Mn + 2Al,03 the oxidizing agent is
TTAtshaT & 3MNnO; + 4AI-3Mn + 2A1,03 AFHTHIT FILE
@) MnO,
(b) Al
(C) A|203
(d) Mn

. In the reaction H,S + Cl,—»2HCI + S, the oxidizing agent is
TTATRAT H HuS + Cl,—2HCI + S, StTaTshor &1 g
(@  HaS
(b) Ck
(©) HCI
@d S
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14. Which of the following statement is correct?
Feforfad § o %19 97 #99 9t 872
(@)  Oxidation involves gain of electron/ SFFETHYIT H TAFEIA FHT ATH ATHA &
(b)  substance which is reduced is reducing agent/ T&T¥ ST FH BT ITAT & a8 Ui &l

FH LIRS
(c)  exothermic process involves absorption of heat/ ZEHTEYT TTHAT | HEAT T

LTI QT BraT &
(d)  oxidation involves loss of electrons/ ST § ToiaFe (A1 =l gTiv ATHA &

. Select Redox reaction from the following
Ao & & Y=tF T AT a1 999 Hi
€)) Zn + CuSO4 —»ZnS0O4 + Cu
(b)  CaO + 2HCI -»CaCl; + H,0
(c) NaOH + 2HCI =NaCl, + H,0
(d) CaCO3;—Ca0 + CO;

. In the reaction
2FeCI3 + SnCl, -»2FeCl, + SnCl,
(@)  Fe™reduced to Fe*
(b)  Sn*?is reduced to Sn*™*

()  Sn*?soxidized to Sn
(d) Fe*® gains two electrons

. Which of the following reaction is not correct?
Aeferiea & & i |1 afafear Jgt 981 82
@) 2AgNO3+Cu—Cu(NO3), + 2Ag
(b) Cl; + 2Kl -2KCI + I,

(©) FeSO,4 + Cu »CuSO, + Fe
(d)  CuSO4+Zn —-ZnSO,4 + Cu
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18. In the reaction of Zn + FeSO, -ZnS0O, + Fe
7Zn + FeSO4 —ZnSO4 + Fe T srferferar &

(@)  Zn gets oxidized/ Zn StFTHT BT ATAT &
(b)  Fe gets oxidized/ Fe iiaiahd &f SITaT &

() Znisoxidized in agent/ Zn T ATFHTHIOT Usic § AT &

(d)  Znand Fe both get oxidized/ Zn sfi¥ Fe AT sitFiad gl ST &

. Consider the reaction/ wfafear o¥ A= %
CuSO, + Fe »FeSO,4 + Cu
FeSO4 + Zn »ZnS0O,4 + Fe

(@  Znis most reactive, Fe is least reactive/ Zn Ta® srfersh Tiatwarefier 8, Fe qardr
FH Tiatwarefie g
Fe is most reactive and Cu is least reactive/ Fe Ta® stfersh TTatwamefie g ¥
Cu H&H FH ITatwamefia g

(c)  Znis most reactive and Cu is least reactive/ Zn Ta® srfersh Tiatwarsfier g fiw
Cu T&® &/ Yiatwarefiar g

(d)  Cuis most reaction. Fe is least reactive/ Cu ®aTTer ATTTHRAT 21 Fe &7 T FH7
BIIER NI

. Which of the following reaction is not endothermic in nature?
Aforfed & & i € atehar Thfd § TSTaHE Tal 8?2
(@)  breaking of bonds/ &l FT geAT
(b)  digestion of food/ STISI< =T U=
(c)  combustion of Carbon/ T & T&
(d)  evaporation of water/ TTHY =T FTCHHTIT
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21. Choose the incorrect statement.

TAT FHAT |

(@)  Physical change is reversible/ eT¥TTe Tfeds Tiaadi g

(b)  Physical change results information of new substances/ WTfds Tfad™ & AT
Tt T STt Aot 8

(c)  Chemical change is permanent/ TTETATH TTEd" £ATAT ZrAT &

(d)  Physical change is accompanied by energy change/ eTTi{a Tfade & dTT FoAT
qREad AT 2rar g

. Which of following is fast reaction?
fforfea & & i a1 wiatwar 82
(@)  Reaction between H, and O, to form H,0/ H, 3T O, & &= wfafsar H,0 a9 &
ferg

(b) Reaction between acid and base to form salt and water/ 3% 3fi¥ &1 & &=
ATITERAT T 0T T A q9qT B

() Hydrolysis of ester/ T¥a¥ FT ZTEg el &
(d)  Hydrolysis of sugar of glucose/ Te@TST Fit HIHT HT e e

Sodium is a

HITH T §

(@)  Silvery white and very soft metal/ i<l it T%a 3T TgT TLH &Tq
(b)  Colourless and hard metal/ TR 3T FSIT &1

(c)  Silvery white and very hard metal/ =Tt T Hha 3 agd Fo1< 4Tq

(d) Colourless and very soft metal/ S33T #iI¥ Sgd 739 4Tq

Which of the following is a basic oxide?
Aoforied § & Fi9 UF o AFarse 82
@) CaOo
(b) CO;
(C) H,O
(d) N,O
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Which of the following is a good conductor of electricity?
M & | HF [&S2d o gard® o?

(@)  Charcoal/ THET T HIAAT
(b)  Coke/ FT®

(c)  Graphite/ T&T

(d)  Diamond/ g1

Which of the following is used for making magnets?

e & & freeT =T 3 a1 & forg fora sar &2
(@)  Duralumin/ =TT

(b)  Magnalium/ &3fiferam

(c)  Bronze/ ra=

(d)  Alnico/ steTfaerr

Iron burns in air to form
TSI ZaT § ST a7 &
€)) FeO

(b)  Fex0s

(©) Fes04

(d) FeO;

When a small piece of dry sodium is put in water, it reacts vigorously to produce

ST G HITSTH T TF FGleT A7 SHST I H STAT STdT 8, a7 TG IeqTad FLe & oy
STIRETY TRt YT §

(@)  nitrogen gas/ ATSEISIA I

(b)  hydrogen gas/ ETgIS 9

(© carbon dioxide gas/ FTa ST FATEE 9

(d) sulphur dioxide/ FeFT STSATFATES

What should be added to pure iron to make stainless steel?
TN T AT o (o0 3 Alg | F7 WA Ser A1t u?
(@  Nickel and cobalt/ et i< FraTee

(b)  Cadmium and chromium/ FEHaa < FwiEaq

(c)  Nickel and cadmium/ et ST Fefaa™

(d)  Chromium and nickel/ FIT= i e
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The valency of mercurous ion is

QT AT T HITSTRAT &

(@)
(b)
(©)
(d)

Two
One
Three
Four

Essential component of an amalgam is
U THI0T 7 SMF9TF FeF g

(@)
()
(©
(d)

An alkali metal/ T & &Tq
Mercury/ 921
Silver/ =ri=r

A non-metal/ T ST&Tq

The red or orange coating that forms on the surface of iron when exposed to air and
moisture for some time is called

T 997 & ToIT ZaT oiIT THT & |7 H Y@ U< Alg ol 9dg 9 I areit arer AT 10
FITET FgeTd 2

(@)
(b)
(©)
(d)

Galvanization/ TSt & &g F&T #hl fohaT

Electroplating/ fa=[a
Rust/ ST

Reduction/ FHT

The tip of the lead pencil is made of

v Hfirer Y e Py A B 2

(@)
(b)
(©
(d)

Lead/ IHE
Graphite/ #HT

Zinc/ STEaT
Charcoal/ STFST T 1T

The most abundant element in the sun’s atmosphere is
T & ATATAL0T § HaE T2 /AT § G071 7T A o

(@)
(b)
(©)
(d)

Xenon AT
Argon/ 3R

Hydrogen/ grsgre
Oxygen/ TS
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White phosphorus is stored in
THE FIEREH S8 gl g

(@)  Ether/ 3aT

(b)  Water/ 9Tt

(©) Alcohol/ eTaTe

(d)  Kerosene oil/ gt & 7=

Hydrogen gas is passed through oil in order to

ETSSISIA 319 o[ deT o HTEAH | g7 FRaT Siar g arfe

(@)  Convert lower oil to higher oil/ 9=t 97 T 3g 9T § &t

(b)  Convert liquid oil into solid field oil/ T T T ST & & dA § T2

(c)  Covert unsaturated hydrocarbon to saturated hydrocarbon / STHTH BTESIhTe &1
HqH grES T § T8 Hit

(d)  All the above statements are wrong/ ITLI<E T FIH Td &

Ordinary glass is a mixture of

ATLTIOT T AT HAT ¢

(@)  Sodium silicate, Calcium silicate/ FTfea® [ferhe, Shfceraw fferhe

(b)  Sodium silicate, Calcium silicate and Silica/ FTTeaw f&rferhe, Ffceraa Fferhe
e faferaT

(c)  Sodium silicate and silica/ FTFeaw f&rfershe i fferT

(d)  None of the above/ T78 ¥ Tz AT AT

Glass used for making wind screens of automobiles is

AEHIETES i & Bhid aa7 & forT seaaTe BT ST areT e ¢
(@  Hard glass/ #31< Rreme

(b)  Photo chromatic glass/ ®Iar {9 Fi=

(c)  Safety glass/ T ge=aTaT ®I=

(d)  Optical glass/ iffeasher ToTe

Annealing is done to

THITerT foreT STTaT 8

@) Increase brittleness/ HI[dT JeTd

(b)  Increase Transparency/ IT&feTaT F&TU

(c) Decrease brittleness/ WI[ZAT FH E8

(d)  Increase refractive index/ sTTad® gaehis GET0
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Sodium chloride is added to the solution after saponification to cause the
ATA R o A& (A ad § A TH FALEE HATIT SATaT & Forers

(@)  Hydrolysis of soap/ T & grESIoH

(b)  Precipitation of soap/ &Te T a9l

(©) Sedimentation of soap/ & FT ATHTA

(d)  None of these/ TH & FI< T2l

. Steel is preferred over iron in construction of ships because
STETSIT o THHT0T § ATg il QAT | TEI6 &l STl af STt g Fi1h
(@  Melting point of steel is higher than iron/ & =T TAATF Alg & ATe grar g
(b)  Steel is more uniform than iron/ T ATg it TAAT | SATeH THIT &
(c)  Steel does not rust/ TEer H ST AT AT
(d)  Tensile strength of steel is not high/ et &Y AT qTeha ATEF AT 8

. Which of the following is an organic acid?
Fraforfrd & & 1 UF FEE T 2
(@) Sulphurous acid/ FeFIZH T+
(b)  Nitric acid/ ATsfes Ui
(c)  Hydrochloric acid/ ETEg it Ufie
(d)  Formic acid/ ®I#F TfEE

Which of the following acid does not react with metals?
Ao & & 19 AT v el & a1 AT aT Toi weal a2
(@)  Sulphuric acid/ & FT AT

(b)  Phosphoric acid/ ®IEHRITE TfEE

(c)  Carbonic acid/ FTaTH TfHE

(d)  Nitric acid/ ATgfes ufoe

. Acid + Base —Salt + Water. This reaction is known as
TFA + T — TG + AA| TH ITATHIT F T H AT J7qT &
(@)  Neutralization reaction/ fA=Teor wfaferar
(b)  Decomposition reaction/ sraeres TiatwaT
(c)  Precipitation reactions/ 9T JfafsaTd
(d)  Displacement reaction/ faeama= st
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45. Sodium hydroxide is
IS Fregiadres &
@) a base/ T# &MY
(b)  anacid/ T UfEE
(©) an alkali/ U= &<
(d) both base as well as alkali/ &% 3f¥ &1 21

. Calcium hydroxide is also known as
HCATT gIESIFATEE &l o T § AT ST AT &
€)) Limestone/ =T 9cIX
(b)  slaked lime/ #Tfeaa FAT
(c)  quick lime/ @fa FAT
(d)  washing soda/ TS T HIET

Which of the following base is used as antacid to neutralize stomach acidity?

U AT STEACT I AL A & (MU (HHTATd H T I AT AT USTHE 6 ®F H TR
T STaT 82

(@  Mg(OH),

(b) KOH

(c)  Ca(OH).

(d) NaOH

. Which of the following ions is furnished by acids in aqueous solution?

et & & 9 AT 3T ST =70 § 375 g Teqd 3T STTav 82
@) OH'ions

(b)  Hions

(c)  HzO"ions

(d) None of these

. Which of the following is acidic in nature?
Aaforied ® & &I w1 THid &7 82
(8  Apple juice/ T T ¥
(b) Soap solution/ AT T =TT
(c)  Slaked lime/ FTf¥a® AT

(d)  Lime/ g
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50. Which of the following is not a mineral acid?
frarferfr & & Fi—ar @ty 9w T8 22
@) HCI
(b)  H2S04
(c) HNO;3
(d) H,CO3

ANSWERKEY

5. A | 6. A
15.A | 16. A
25.C | 26.D
35.B | 36.C
45.D | 46.B
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